TecCcT

«CTteneHb. YMHOXEeHUe m
nerieHue cteneHemy.
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Bonpoc Ne1

BepHo , 4TO:
-13+(-2)°=-97




Bonpoc Ne2

BepHo, yTo p4 : p3 . p2 - p = p24 ?




Bonpoc Ne2

BepHo, 4TO C




Bonpoc Ne3 @ @

BepHo,uto m-m>-m?-m>=m"?




Bonpoc Ne3 @

BepHo, yTo (- 5,9)° < (- 5,9)? ?




Bonpoc Ne3

BepHo, yto 6%+ 82 =100 ?




Bonpoc Ne4 @ @ @

[1aHHO€e paBeHCTBO BEPHO:
72-72 = 14 7

712




Bonpoc Ne4 @ @

BepHo,uyto  (-25)°<07?




Bonpoc Ne4 @

BepHo,uyto y3-y?-yS=y1S 2




Bonpoc Ne4

BepHo, yto  10'°:10'2=10000 ?




Bonpoc Ne5 @ @ @ @

BepHo,uto  (10-4)?=127?




Bonpoc Ned @ @ @

BepHo,yto 0,614 =0,216 ?

0,6*-0,6°




Bonpoc Ned @ @

BepHo,yto 0,5'°:0,5"=0,15 ?




Bonpoc Ned @

BepHo,yto 51€-5%¢ =10 ?

518




Bonpoc Ned

BepHo,uyto a’+4>07?
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TBOSA OLEeHKa




TBOSA OLEeHKa




TBOSA OLEeHKa

MoBTOPKM MaTepwan u npuxoau coasaTh elle pa3s! .
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